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1. Which of the lexical transformations should be used in the following sentences? Choose the
most suitable variant: (10 scores)
1) Accounts of the actual testing of scientific theories tend to be rather technical and
often require the use of statistics.
a) omission; b) descriptive translation; c) generalization; d) antonymic translation.
2) A degree-day is a unit of measurement used in several fields of technology where
temperature changes are of importance.
a) generalization; b) concretization; ¢) modulation; d) addition.
3) Operators use their own biological control systems to regulate the movements of the
machines.
a) word shift (change of the word of one part of speech into the other); b) descriptive translation;
c) generalization; d) omission.
4) Color has so many meanings for different observers that a strict definition is difficult, if
not impossible.
a) descriptive translation; b) modulation; c) antonymous translation; d) addition.
5) In simplest terms, the concern of science is “why,” and of technology, “how.”
a) descriptive translation; b) generalization; ¢) omission; d) concretization.
6) A similar concept, fugacity, allows for nonideal behaviour of gases.
a) descriptive translation; b) modulation; c) permutation; d) concretization.
7) In other words, the vacuum that existed at the time of the big bang was not a stable but
an unstable, high-energy vacuum.
a) generalization; b) contextual substitution;
c) calque; d) concretization.
8) The cosmological theory called the big bang theory assumes that the universe began from
a singular state of infinite density.
a) modulation; b) omission; c) addition; d) calque.
9) Mechanical engineers also design machine components.
a) addition; b) omission;
¢) word shift (change of the word of one part of speech into the other); d) descriptive translation.
10. These programs continue, with emphasis now on breeding new crop varieties that need
little fertilizer or irrigation.
a) antonymous translation; b) concretization; c) generalization; d) omission.
2. Fill in the correct word(s) from the list below. Use the words only once. (5 scores)
Patent, power, to eliminate, life, direction, to take, to generate, aural, brain, to dispose.

1. a(n).......... expectancy S0 . electricity
2. i bearings 6. ...l -driven machines
3 nuclear waste 7. a(n)........ drain

4. i royalties 8. a(n)........ -finding loop



9. a(n)....null 10. ......... disease

3. Translate the following words and phrases into Ukrainian (A) and into English (B) (20
scores)

A

1) a life span

2) to hold to account

3) a direction finder

4) non-proliferation treaty

5) to preside over a court

6) to anticipate

7) law enforcement

8) disarmament treaty

9) power-driven machines

10) to spew pollutants into the air

B.

1) HAaHOCHTH Ha KapTy

2) TnpuiiMaTH  pillleHHs, M0  MAakoTh
000B’SI3KOBY CHITY

3) KiJbIle APOTY

4) Bix iMeHi, 32 JOPYUCHHIM

5) npubepexHi BoIH

6) Komicis 3 [{iHHKX manepis i 6ipik
7) aHTEeHA pajiioneIeHraTopa

8) KOHTPPO3BiIKA

9) 3BUTBHATH 1] 3aCTaBY

10) 3 HEWMOBIPHOIO MIBUAKICTIO



Translate the following abstract into English (35 scores)

Cuctema pajiioneeHryBaHHs eperyciM € 3acoboM yrpapimiHHs noBiTpsHuM pyxom (YIIP). 3a 1i
nornomoroto nucnerdep YIIP na 3emmi moxxe BusHauutu neneHr 1IC, ToOTO Ai3HATUCS B SAKOMY
HANpPSIMKY BiJ Hei 3HaxoauTbesa cyaHo. Ilpote nucnerdep Moxke repenaTd 3HAYEHHS MEJIEHTa
exinaxy IIC, skuii, B CBOIO 4epry, 3MOXe BHUKOPHCTAaTH LE€H MEJEeHr JUIsl BHUPIMIEHHS CBOI
HaBiramiiHUX 3aj1ad4 3 nejaeHramu, orpumanumu Big APK uun VOR.

CucreMa paJiomNeNeHTYBaHHA, K 1 Oyab-sKa pajiOHaBiramiifHa CUCTeMa, BKJIIOYA€ HA3EMHY 1
O0opToBY ckianoBi. HazeMHa yacTuHa — 11€ paliONeNIeHraTop, 110 BCTAHOBIIOETHCS, SIK MPABUIIO,
Ha aepojpoMax 4YM TMOOJIM3y JUCIETYEPCHKUX IMYHKTIB. BoHa CckiajgaeTscs 3 aHTEHH,
npuUiiMar4oro o01aiHaHHS, MYJIbTa KEPYBaHHS 3 1HAUKATOPOM, KU 3HAXOAUTHCA HA pOOOYOMY
MICIII AUCTIETYEPa, 1 32 TOTIOMOTOIO SIKOTO BiH 3UUTYE TICJICHT.

Ha 6opry IIC Hemae morpebu B meBHOMY oOnamHaHHi. JIOCHTH JMIe 3BUYAHOI 3B’SI3HOT
pamiocTaHIlii, 3a IOMOMOTOI0 SKOI eKimaX MiATpUMYe 3B'A30K 3 naucrnerdepoM. Hazemuwmii
pazioneneHraTop BU3Hayae HaIpsIMOK PaJiioXBWIIb 1 JUCIIETYEP 3UUTY€E 3HAYCHHS MeJICHTa.

5. Translate the following abstract into Ukrainian (30 scores)

The Treaty on the Non-Proliferation of Nuclear Weapons, commonly known as the Non-
Proliferation Treaty or NPT, is an international treaty whose objective is to prevent the spread of
nuclear weapons and weapons technology, to promote cooperation in the peaceful uses of nuclear
energy, and to further the goal of achieving nuclear disarmament and general and complete
disarmament.

Opened for signature in 1968, the treaty entered into force in 1970.

Under Article VI of the NPT, all Parties undertake to pursue good-faith negotiations on effective
measures relating to cessation of the nuclear arms race, to nuclear disarmament, and to general and
complete disarmament.

Critics argue that the NPT cannot stop the proliferation of nuclear weapons or the motivation to
acquire them. They express disappointment with the limited progress on nuclear disarmament,
where the five authorized nuclear weapons states still have 22,000 warheads in their combined
stockpile and have shown a reluctance to disarm further. Several high-ranking officials within the
United Nations have said that they can do little to stop states using nuclear reactors to produce
nuclear weapons.
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